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a+b ab a
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13 12

—1 ~ 20 -5
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10 21

—1 ~12

— 11 10

~7 10

ed. (a+b)2=az+2ab+Db?
(a—b)2=az—2ab + b?
dd (a + b)2— (a—b)z=4ab

=

(@ - bY*= (a + b)* = 4ab

a~ b= \J(a+b)?-4ab

SH () a+b=13q9ab=12 79

a-b= 13} -4x12

= J169-48=+121=11

7 a+b+a-b=13+11=24

=>
T

=

2a= 24 =

b=13-a=13-12=1

(i) a+b=-5aqab=479

a-b= /(-5 -4x4

= J25-16=49=3

™ a+b+a-b=-5+3=-2

]

R

2a=-2 = fa=-1]

b=-5-a=-5-(-1)




=—5+1
= =_4
(iii) 99 a + b = 10 991 gb = 21 7@

a—-b= /(102 -4x21

= J100-84 =4/16 =4
a+b=109a-b=4
9 a+b+a-b=10+4
= 2a=14 ={a=1
G ' b=10-a=10-7=3
= b=3
(iv) S a+b=-14d49ab=-12
o a-b= =D -4x(-12)
= J1+48=49=7
a+b=-13a-b=7
e W,
a+b+a-b=-1+7=6
= 2a=06
=
b=—-1-g=-1-3=-4
= . . b=-4

Wa+hb==119gb=107d
a-b= J(-11)*-4x10

= J121-40 =/81=9

W a+b+a-b=-11+9=-2

= 2a=-12

= |
b==-11-a=-11-(-1)
=-11+1

= b=- 10

(vi)a+b=-Td49agb== 10714
a-b= (-7 -4x10

= J49-40=9=3




a+b=~-T7d9a-b=73

a+b+a-b=-T7T+3

= 2a=-4
=

=-T7-a

=-T7-(-2)

b=-7T+2=-

= =—35
JURIed T dTfered] § 1RA WR
a+b ab a b
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3(x—4) 3x—-4 3x-12
(2x)2 2x2 4x2

(x + 4)2 X2 + 16 X2 +8x + 16
(x - 3)2 X2-9 X2 - 6x -+ 9
S Y+ 1 S+
gﬁ.

(1)3x+x+4=56
=3x+1+4x=56
=(3+1+4)x=56
= 8x =56

S x= ¥ = 7 (9€ AF)

(2) x==2 U 5x Dh HIT
=5x(-2) 5x =5 x x
= - 10 (¥&! AF)

() () 3(x—4)
=3xx—-3x4
=3x—-12

3(d: B U8 B

(i) (2x)?

= (2Xx) x (2x)
=(2x X)X (2xX)
=2X2XXXX




=4 X x2
= 4x2

3Hd: Bﬂ’eﬁ%l

(i) (x +4)2=x2+ 2(X) (4) + (4)?
=x2+8x + 16

3d: B Ual B

(iV)(x =3y =x* =2 (x) (3) + (3)
=xX2—-6x+9

3d: B U8l B

y+5
)5 =
)

=5+1
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Exercise 10.1

vy 1: 3T g€ ugl # 9rd uHEvs F1a Sifore
(i) 12x, 36

(ii) 14pq, 28p°q?

(i) éabc, 24ab?, 12a’b
(iv) 16x3, — 4x2, 32x

(v) 10pq, 20qr, 30rp
(vi) 3x%y3, 10x%y?, 6x°y°z
ed:

(i) 12x, 36

12x =2x2Xx3 XX

36 =2x2x3x3

. <74 TUAUS = 2 2 x 3 = 12

(i) 14pq, 28p*q?
14pg=2x7xpxQg2

28p°q° =2 x2X7XpXpPXQgxq
.-.FIH;‘IUH@'U@:ZX7xpxq=14pq

(iii) 6abc, 24ab? 12a’b
babc=2x3x4x6XxC



24ab%?=2x2x2x3xaxbxb
12a°b =2x2x3xaxaxb
- <74 TUFAUS = 2 x 3 xa x b = 6ab

(iv) 16x3, — 4x2, 32x

16 = 2X2X2X2XXXXXX
4% = (1) X2 X2 XX XX
32X =2X2X2X2X2XX

. T4 UGS = 2 X 2 x X = 4x

(v) 10pq, 20qr, 30rp
10pg =2x5xpxq
20gr=2x2x5xqgxr
30rp=2x3x5xrxp

- T4 UFGUS = 2 x 5 = 10

(vi) 3x%y3), 10x%y?, 6x°y°z
32 = 3XXXXXYXYXY
10Xx%Y2 =2X5XXXXXYXY
6XY’Z = 2X3XXXXXYXYZ

- T4 TUFEUS = X X X X Y X Y = X2y2

uy 2: fFrafefaa sl & uFETs FINT ([1d qUHEETS gR)
(i) 6p — 12

(ii) 7a% + 14a

(i) 10a® = 15b? + 20c?

(iv) ax’y + bxy? + cxyz.

(V) X?yz + xy?z + xyz°

(vi) — 16z +20z°

od:
(i) 6p — 129
6p - 129 =6 (p - 29)

(i) 7a% + 14a
7a°+ 14a=7a(a + 2)



(iii) 10a® — 15b% + 20c?
10a% - 15b?+ 20c?
= 5 (2a? - 3b%+ 4¢?)

(iv) ax?y + bxy? + cxyz
ax®y + bxy?+ cxyz
= xy (ax + by + cz)

(V) X2yz + xy’z + xyz*
X2yzZ + Xy’z + xyz?
=Xyz (X +y + 2)

(vi) — 16z + 20Z3
- 16z + 2023
=4z (-4 + 579

UY 3: TUHFEUS DIl (T R
(i) 2xy + 3 + 2y + 3x
(i)z=7-=T7xy + xyz

(inyéry—4y + 6 -9

(iv) 15pg + 15 + 99 + 25p

ed:

(i) 2xy + 3 + 2y + 3x
2xy + 3 + 2y + 3x
=2xy + 2y + 3 + 3X
=2y (x+ 1) + 3(1 +X)
=2y (x+ 1) +3(x+1)
=(x+ 1)y +3)

(i)z=7=T7xy + xyz
z—7—-7xy + xyz
=z—-7-xy(7-2)
=1(z-7)+xy(@z-7)
=(1+xy)(z-7)
=xy+1)(@z-7)

(iii) 6xy — 4y + 6 — 9x
bxy —4y + 6 — 9x




=2y (3x—-2) + 3(2-3x)
=2y (3x-2)-3(3x-2)
= (3x-2) (2y-3)

(iv) 15pq + 15 +9q + 25p
15pg + 15 + 9q + 25p

= 15pg + 99 + 15 + 25p

=3q (5p + 3) + 5(3 + 5p)
=3q(5p +3)+5(Gp +3)
= (5p +3) 3q + 5)

Exercise 10.2

vii) 63a° — 112b?
viii) 9x%y? — 16
iX) (I+ m) = (I = m)?

Bd: () a’ -4
a’-4 = (a)* - (2)?
=@-2)(a+2)

(i) a® — 49b?
a2 — 49b? = (a)?(7b)?
=(a—-7b) (a + 7b)

(iiiy p> = 121p
p>-121p =p (p* - 121)
=p {(p>- (11)3
=p(P-1N)(p+11)



(iv) (@a-b)?> - c?
(a—b)?-c?
=(@a-b-c)(@a-b+0q

(v) a* - b*

a*-b*

— (a2)2 _ (b2)2

(%> —b?) (a% + b?)
(a—b) (a + b) (a® + b?)

(vi) 5x3 — 125x

5% — 125x

=5 (x*> — 25)

= 5x (x*> - 5%)
=5x(x—=5) (x +5)

(vii) 63a2 - 112b?
63a2 - 112b?

=7 (9a? - 16b?)

= 7{(3a)* - (4b)?}

= 7(3a - 4b) (3a + 4b)

(viii) 9x%y? — 16
9x%y? — 16 = (3xy)? — (4)?
= (3xy —4) 3xy + 4)

(ix) (I + m)2 = (I — m)?

(I +m)?—-(-m)
={l+m)+(-m)}{(l+m)+(-m)
=(l+m-Il+m{+m+I|l-m)

= (2m) (21)

= 4Im

uy 2: fFrafafaa & uravs Fifve
(i) Ix> + mx

(i) 2x3 + 2xy? + 2xz°

(i) a(@a + b) + 4 (a + b)

(iv) (xy +y) +x +1



(v) 5a®> — 15a — 6¢ + 2ac
(vi) am? + bm? + bn?+ an?

e

(i) Ix® + mx
IX% + mx
=X (Ix + m)

(i) 2x3 + 2xy? + 2xz°
2x3 + 2xy? +2xz°
= 2x (x> + y? + Z°)

(iii)a(@a + b) + 4 (a + b)
a@+b)+4(a+b)
=(a+ b)a+4)

(iv) (xy +y) + x + 1
Xy +y)+ (x+1)
=yx+1+1Tx+1)
=x+T)(y+1)

(v) 5a° — 15a — 6¢ + 2ac
5a-15a-6¢ + 2ac

= 5a% - 15a + 2ac — 6¢
=5a(@-3)+2c(@a-3)
=(a—-3) (5a + 2¢)

(vi) am? + bm? + bn? + an?
am? + bm? + bn? + an?

= am? + bm? + an® + bn?
=m’(@+b)+n®@+n)

= (a + b) (m* + n?)

Yy 3: e siee! & uHEvs Fifve
()X +5x + 6

(i)g>+ 11g + 24

(iii) m?> = 10m + 21

(iv) x> + 6x — 16

(V) x> -7x-18



(vi) k? =11k — 102
(vii) y? + 2y — 48.
(viii) d®> — 4d — 45
(ixX) m* + 16m + 63
(x) n>=19n -92
(xi) p>=10p + 16
(xii) X + 4x — 45

K

()X +5x + 6

X° +5x + 6
=Xx°+2Xx+3x+6
=X(X+2)+3(x+2)
=xX+2)(x+3)

(i) g>+ 11q + 24
g®+ 11q + 24
=g°>+3q+8q+24
=q(q+3)+8(q+3)
=(@+3)(q+38)

(iii) m? = 10m + 21
m2—10m + 21
=m?-3m-T7m + 21
=m(m-n)-7(m-=3)
=(m-3)(m-7)

(iv) X2 + 6x— 16

X° + 6x— 16
=x°+8x—-2x—-16
=X(Xx+8)-2(xx+8)
=(x+8) (x-2)

(V) x>*=7x-18
x2—7x-18
=x>-9x + 2x— 18
=Xx(xX-9)+2x-9)
=(x—-9) (x + 2)



(vi) k2= 11k = 102
k?—11k - 102

=k?- 17k + 6k — 102
=k (k=17) + 6 (k—-17)
= (k=17) (k + 6)

(vii) y? + 2y — 48
y? + 2y — 48

=y? + 8y —6y—48
=y(y+8)—-6(y+28)
=(y+8)(y-90)

(viii) d%2 — 4d - 45

= d®-4d - 45
=d2-9d + 5d - 45
=d(d-9)+5(d-9)
=(d-9)(d+5)

(ix) m? + 16m + 63

m? + 16m + 63
=m?+9m + 7m + 63
=mm+9)+7(mM+9)
=M+9)(m+7)

(x) n>=19n -92
n®-19n-92
=n?>-23n+4n-92
=n(n-23)+4(n-23)
=(n-23)(n +4)

(xi) p>—10p + 16
p?—10p + 16
=p>-8p-2p + 16
=p(P-8)-2(p-8)
=(P-8) (-2

(xii) X*> + 4x — 45
X2 + 4x — 45
= x> + 9x — 5x — 45



=Xx(X+9)-5x+9)
=x+9) (x-5)

Exercise 10.3

wy 1: FRafaRaa faure= $ifsg
(i) 28x* + 56x

(i) — 36y> + 9y?

(iii) 34x3y3Z3 + 51xy3Z3

(iv) 12a8b® + (- 6a®b?)

B: (i) 28x* + 56x
_ 28x!
~ 56x
_2X2XTXXXXXXXX
2x2%X2xTXx
XX XXX
— -""_i"_"'

_2X2x3X3Xyxyxy
3X3XyXy




(iii) 34x3y3Z3 + 51xy3Z3
34x3y§23
- 513y223
IXTTXXXXXXXYXYPXYXZXZXZ
IXITXxXyXyxXzXzXz

2XxXxXy
3

2xty
3

= %Izy

(iv) 12a8b® + (- 6a®b?)

_ 12a%h8

T ~6ah*
2x2x3Ixaxaxaxaxaxax
;axaxbxbxbxbxbxbxbxb

2x3Ixaxaxaxaxaxax
bxbxbxb

__Zxaxéxbxbxbxb
B 1
_ _2a%*
1
- _ azazbll

¥ 2: 4T g¢ 9gue @I T gU Te udt | ur difere
(i) (5% - 6x) + 3x

(ii) 3 + 2x° + 3x) + 2x

(i) (P°q° - p°q®) + p’q’

(iv) (3x® = 4x® + 5x%) + x*

e
(i) (5% — 6x) + 3x



(i) 3 + 2x°% + 3x) + 2x

X+ 2x% +3x
2x

x(x? +2x+3)
2x

x24+2x+3

(2]

(iii) (p°q® - p°q’) + p°q?




(iv) 3x® — 4x® + 5x%) + x*
3x® — 4x8 + 5x*

J.T4

x(3x* -4x*+5)

xd

3xt —4x?+5

1
=3 - 4x% + 5

wy 3: Fafafed faures sifse
(i) 10y(by + 21) = 52y + 7)

(i) 9x%y?(3z — 24) + 27xy(z - 8)
(i) (10y + 14) = 2

(iv) (6x = 15) + (2x = 5)

Bd: (i) 10y(by + 21) + 52y + 7)
10y(6y+21)
52y+7)

10y .3 .(2y+7)
. 5.(2y+7)
2.3y
1

6y
1

=6y

(i) 9x%y*(3z - 24) = 27xy(z - 8)
_ 9%y*(3z-24)
T 27xy(z-8)

_ 9’y 3. (z-8)
T 27xy(z-8)

= x—f-:xy



(iii) (10y + 14) = 2
(10y + 14) + 2
10y +14

2
_10y 14

2 2
=5v+ 7

(iv) (6x — 15) = (2x = 5)
(6x — 15) + (2x - 5)
6x—15
T 2x-5
3(2x-15)
- 2x-5
=3

Y 4: oI S UFEUS PIVT 3R HIT Sifere
() (y> + 7y + 10) + (y + 5)

(i) (5x% — 25x + 20) + (x - 1)

iii) 12xy(9x? — 16y?) + 4xy(3x + 4y)

(iv) dyz (22 + 62— 16) + 2y (z + 8)

ed:
() (y> + 7y + 10) + (y + 5)
y> + 7y + 10
=y +2y+ 5y + 10
=y(y+2)+5(y +2)
=(y+2)(y+)5)
: P+Ty+10) = (y+ 5)
2 +7y+10
= y+5

+2)(y+3)
= V45

%

Y

+
1
+

i

-2

y



(i) (5x% — 25x + 2ﬁ0) = (x-1)
(5x° - 25x + 20)
=5(x*-5x+4)
=5 -x-4x+4)
=5{x(x-1-4x-1}
=5(x=-1) (x-4)
(5x2 = 25x + 20) + (x = 1)
_ 5x®-25x+20
x—1
S(x—1)(x—4) _5(x-4)
x—1 ]
5 (x-4)

iii) 12xy(9x2 — 16y?) + 4xy(3x + 4y)
121}'(9.12 - lﬁyz) + 4xy(3x + 4y)
_ 12xp(9x% = 16y%)
4xy(3x+4y)

_ 1259{(3x)* - (4%}
- 4xy(3x+4y)
12xy(3x —4y)(3x+4y)
dxy(3x+4y)
_ 33x-4y)
- 1
=3 (3x - 4y)

(iv) 4yz (22 + 62— 16) + 2y (z + 8)
dyz (7 + 62— 16) + 2y (z + 8)
_ 4yz(z* +62-16)
- 2y(z+8)
4yz(z* +8z -2z ~16)
2y(z+8)
4yz{z(z+8)-2(z+8)}
2y(z+8)
4yz(z+8)(z—-2)
= 2y(z+8)
_ 2z(z-2)
- 1

=2z(z-2)



Additional Questions

. SgfaPeuTHD Uy

Y 1: TSP x2 + (a + b) x + ab & TUFEUS
(@) (x +a) (x—Db)
(b) (x—a) (x + b)
() (x+a)(x+b)
(d) (x—a) (x-Db)

Y 2: (2x + 3) BT T AT
(@)4x® +6 +9

(b) 4x°+ 2x + 9

(€)4x% + 12x + 9

(d) 4x> + 9

Y 3: (6x + 1) BT T 3|
a) 36x% + 1

b) 36x% + 6x + 1

) 36x2 + 6

d) 36x% + 12x + 1

—_~ o~ o~ o~

WS 4: TP (2a - 3) (2a + 3) PTIUHEGA
(a) 4a° +2a+9

(b) 4a® -

(c) 4a° —
()4a2—4a+9

TS 5: 6x + 18xy PT IAUHEUS 3

(a)y
(b) 6
(9] 6x
(d) xy

Y 6: 2x° + 2 + 2x + 1 B UFEUS §
(@) 2x + HxX® + 1)
b)x+2)x+1)



(© (x + 2)(x?

+1)

(d)y (x+ H)x + 1)

UY 7: 4% +

8y + 4y? P UFEUS 3

(@) (2x + 2y)?

(b) (2x — 2y)?
(© (x + y)?
(d) (x + 2y)?

UY 8: TGP a2 + 2ab + b? P UHTUS §
(@ (@ +b)a-b)

(b) (a + b)?
(© (@a-b)?
(d) (@® + b?)?

UY 9: ST TP a2 - b? F [UFETS &

(@) (@* - b?)

(b) (a* = b?) (a + b)

() (@a+b)(a
(d) (@-b) (a

SIIYHTAT:

+ b)
+ b)

1.(c) 2. (c) 3. (d) 4. (b) 5. (c) 6. (a) 7. (a) 8. (b) 9. (d)

1. e == @1 gfef Fifoe

1. 98 THIHR0T ot TR IRAT & G A1 & [ T T . HEard g
2.(x +a) (x +b) = X%+ (..) x + (ab)

3.a°-b%=(...)x(@a-h)

4.(x=1) (X + 1) RIS G oo & |

5.35%3.5-25X 2.5 BTHT ooovoovvoooo gl

SIRATA: 1. JAGDBI2.(a + b)3. (a+ b)4.x—15.6
1. /3

1.a2—t])+ab—aa'WIUFP@I'U@’(a—1)(a+b)%l
2.(x+?)2WﬁWx2+?]!+2%|



3.x2 = 7x + 12 % TUMEUS (x + 3) (x + 4) B
4.9 x =2TqUTy = -1 BT AT %2 +4xy + 4y2 BTHAF O B

STIRHIAT:
1,97 2. 9 3. AT 4. 9

v. fras/gaes arq uy
[US (1) H 3T 7T HIT &1 W@us (2) H 3T 7T Wil ¥ fHam oifoig

Qg (1) |ug(2)
1. 103 x 107 (a) 11021
2. 22y — 33z (b) 2y
3. 2y, 22xy ¥ 9@ UREYE (c) — 4y
4. - 36y° = 9y (d) 11 2y — 3z2)
SIRATAT: 1. [~] (a) 2. [=] () 3. [=] (b)
v. SfITLRTHS Uy

U 1: 3%3 + 3%% + x + 1 & YUFEUS HIfoC|
BA: 33 + 3%+ x + 1

=3 (x+1D+1x+1)
=(x+1)Bx°+1)

UH 2: 2(x +y) + 3(x +y) + 5(x + y) BT AH YUHHUS ST

4.[=] (0)

T 2(x +y) + 3(x + ) + 5(x + y) H A UE &1 UAP UG BT (x + y) T UFAUS g

. I DT 4 OFETS = (x + y)
Y 3: 2x(2x2 + 2x - 9) B! WA PO

B: 2x (2x° + 2x - 9)
= 2X X 2X% 4+ 2X X 2X — 2X X 9
= 4x3 + 4x% — 18x

U 4: (x + 2) (x + 3) P IIA BT



BC: (x + 2) (x + 3)
=x2+ (2+3)x+2x3
=x°+5x+6

Y 5: (2x + a) TUT (2x — a) BT UGS ATd HIfoC|

e

(2x + a) (2x—a)
= (2x)* - ()
=4x°-a

Y 6: Af¢ x + y = 20, xy = 34l x2 + y? BT A AT DITOC|

Bd:

(X +y)?=x>+y>+ 2xy
= (20)> = x® + y* + 2(34)
= =400 = x*> + y* + 68
= x% + y? = 400 - 68

= x% +y%> =332

Y 7: AR 32 + 37 = 62 T (x + ) BT T F1d FINTTI

UY 8: TfE x2 - x — 42 = (x + k) (x + 6) B oY k BT HIF JTd BT

°ed:
X2 —x—42 = (x + k) (x + 6)
=X —Tx+6x—42 = (x + k) (x + 6)



5XX-7)+6 (x=-7)=(x+ k) (x + 6)
=>X=-7)(x+6)=(x+k)(x+6)

JoHT TR R
k=-7

VI. TYIRTHD UH
¥ 1: fFafafed siee &1 quravs HIfore x2 + 8x + 16

B X%+ 8x + 16 = (X)2 + 2 xx X 4 + (4)?
= (x +4)°

Y 2: 39y (50y2 - 98) H 26y? (5y + 7) A YN SIfer|

Bd: 39y° (50y2 — 98) + 26y° (5y + 7)
393°(50y7 - 98)
T 26025y +7)
39y° . 2. (255* - 49)
T 2607 (5v+T)
39y° .2 {65y - (D
26y* (Sy+7)
3917 2 . 5y-T)5y+7)
26y* (5y+7)
_ 3y(5.ly— T
=3y Gy-17)

-

Y 3: 8(x%y222 + x2y322 + x2y?2%) W 4x?y?z? | U Sifere|



BA: 8(%y2Z% + x2y3Z% + x%y?7%) + 4x%y%Z?
:Ts:{:vr:'q_].fz.::2 + ;:::2;.:‘"'532 + xlylzJ)
= 4 II 2 2

yez

ﬂ:ijzz2 + 8x2y322 + 8:1y223
= 4x2y222

Sx:"yzzz N gxzyszz N gxzyzza
= 4x2ylzz 4x1yzzz 4x2y222
=2x+ 2y + 2z
=2x+y+2)

Y 4: x* - (x - 2)* & [UFEUS BIFY

ed:

x*— (x—2z)?

= (x3)? - {(x — 2)%°

= - (x-2% {x* + x - 2)%

={X—(X=2)}{X + (x=2)} {C+ x> + = 2xz + 7%}
=7z (2x—2) X% - 2xz + 79

UY 5: 8x%y3 (a + b)? + 24x3y? (a + b)? - 16x3y3 (a + b)? %W@WI

BC: 8x%y3 (a + b)? + 24x3y%(a + b)? - 16x%y> (a + b)?
= 8x%? (a + b)? [y + 3x — 2xy]

UY 6: UGV DIfoIT
(2 + 3y)2 = 5(2x + 3y) - 14

B HMI2x + 3y = a, dd

(2x + 3y)?=5@2x + 3y)- 14 =a’-5a- 14
=a’-7a+2a-14

=a@a-7)+2@-7)

=(@-7)(@+?2)
=2x+3-7)2x+3 +2)

WY 7: (i) ATAUFREUS GIRT UHEUS HIforg

par + pg’r + pqr?



(i) IgUE 18m? + 6m?2 + 12m T 3m F HFT EIfST|

o

(i) p?ar + pg’r + pqr?
=pqr(p+q+r)

(i) 18m3 + 6Mm? + 12m
=6m (3m?+m +2)

Y 8: TGIdH & UFEUS HIP YN §IfoT
(22 -4z-12) + (z + 2)

od:
z2-4z-12
=722-62+2z-12
=z(z-6) + 2(z-6)
=(z-6)(z+2)

(-4 -1 = (2+ 2)

P 44z-12

T z+2

(z-6)(z+2)
z+2

- z-l"ﬁ- =E-ﬁ

uy 9: fFafafed Fie®! & uHavs HIT| (@15 g UFT §d i)

(i) 5pg + 5p + 3q° + 3q

(i)a*—5a + 6
(iii) p* - 81
od:

(i) 5pg + 5p + 39° + 3q

= (5pq + 39%) + (5p + 30)
= q(5p + 3q) + 1(5p + 3g)
=(OBp+39)(q+1)

(iya®-5a + 6
=a’-3a-2a+6



=a@-3)-2(a-3)

=(@-3)(@-2)
(iii) p* - 81
= (p?)? - (9)°

a’—b%?=(a+b)(a-b)
(p? +9) (p>-9)
(p* +9) [(p)* - 3)7]
(P +9) (p+3)(p-3)



